Unit 3A/Foundation

Exercise 3
Use the highlighted words from Exercise 2 to complete these sentences.

a | must return the goods that you delivered to my shop yesterday as they are all and |
cannot sell things that do not work properly.

b Mr Wilkes breached the contract because he delivered the goods two weeks late. As an immediate
result of this | suffered a loss of £2000 because | could not sell the goods to the
buyer who was waiting for them.

¢ You must pay what you owe me at once or | will you in the County Court.

d When the claim form was served upon the he decided to pay the money that he
owed to the claimant.

e The loss that you suffered as a breach of the contract was not a direct result of the breach. A court will
say that this is loss.

f Several people owe money to my business and as a result | am the in three
different cases in the County Court.
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